Beam-Beam Wire Experiments
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Experiment (~2 Hrs)
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Yellow Ring

Position [Y, mm]
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Yellow Ring (50 Amps)

Position [Y, mm]
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Loss Vs. Wire Position
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Loss Vs. Wire Position

Beam Decay [% Loss/Hr]
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Orbit Vs. Wire Position (Blue Ring)

position [microns]
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RMS Orbit Vs. Wire Position (Blue Ring)
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4_ Wire Poéition
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Pin Diode & Wire Position (Blue Ring)

Position [V, mm]
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une Spectra

07:04147 07304148 07:04:43 07304150 07:04351
Time (Start Fill = 8603)

qLoopTune?, bh:qBufFAvgHl, ]

qLoopTune2, bhz i BuffAvatl, ]

07104152

H - fip~ 26 073623142
YWo— AR 20 O70E0E

-

Blue HorVer

27 - Fill 98609
- 4 ———  aFizH (V1]
2007 - Fill 08663 ——— aFizW (V1]
Tung — Hor — 0,232 1 Ver - 00,2063 hampl: tudePres (V1)
Prest Tune - For — 02328 © Ver - O.22E) —— hampl:tude (Y1}

wampl:tudePres (V1)
———  wampl:tude (Y1}

H - Ap~ 25 06:53:55 2007 - Fill 08609 GFilH (VL]
Y- Ap- PR OR:Gdeld 07 - Fill ORROS aF1ow fv1l
Tune — Hor — Q2235 7 Ver — 00,2230 kampl:tudePrew (vly
F-ew: Tune - For — 00,2351 - Ver - 0,2252 hampl:tude (vl

1

mewﬂmmm"ﬂ G :
2,22

R B e
e |

0,25 u, 24

Yellow Harver

wampl i tudePrew (YL}
————  wampl: tude (V1)

Mm‘ T

.22 023 .24

Tune measurement impossible in Blue with “Hairs”
Why the big difference between 1&Q Data Vs. Amplitude and Phase

More analysis underway...



